(B)
(D) None of these

%(F+2j+2k)

- 8
ﬂm = (x - 1)(x + 1), x-axis, ordinates x = 0, and x 5 Is

._‘ - L #ﬂ
il
J'I B B
. S

S |
- - . ¥ 1“

‘ﬁqm 7 _ e s
o ﬁg} - ® 7 sq. units (C) 1 sq. unit (D) None of these

X+ “ n. .. 1_1_'1;1.‘- (B) ‘B"GOS 2X + "B" Sin2x

e B et 1
‘, (D) §x+-4—51n21+-8-0052x

y at certain points

| IERENE



dy m

s at %= is equal to

| BBy 2 (C) O (D) None of these
)¢ a functian f(x) = sin™' (2x* + 3x + 1) is
AN :' -f_".-':.:' 3

vt 1) | — 00, 00 = D) None of these
(B (09, #2) (C) |50 (D)

s -

st A are 2 : 1. Odds in favour of A

A and : @ two events. Odds again uBare3:1.

w f'f'@"-“’ 372 then the ordered pair (X, y) is

(B) (%:%J (C) (%%} (D) None of these

1 3sin20 | .
~1 2 -1
»f © for which 0 = tan™'(2tan 9)-——sm (5+400329J' is/are

(B) nm, nm +%, nm+tan”'(-2)

(D) None of these

L 11sin20 cos>0 4sin46
/alue of ¢ u+ yi w between 6=0and 6 = 5 T andsatisfying sin?@ 1+cos’6 4sindd | = 0
febessi sinZ 0 cos20 1+4sin4b
R S g (G} 5, (D) 3z
e CJGICAL AND ANALYTICAL REASONING

ight stude j mlt, Misha, Chaya, Dhruyv, Ekta, Farah, Kabir and Mohit are planning
1 %g There are only two cars and following are the conditions:

One car can accommodate maximum five and minimum four students.

ﬂ‘il m the sarne car in which Dhruv is sitting but Mohit is not in that

Y
t!‘¢

: _T T;ﬂ-.; -__'
8 o
Mis! .h m‘laya can’t sit in the same car in which Dhurv is sitting.

ah '.Lifi it;m the car of four people only along with Amit and Ekta but certainly
ot w .hlJ ”ﬁiﬁ

'.;._,,

- K 4 bir f ésltting in the same car, who are other two students sitting in

a .|"'-

"f--' (B) Misha and Dhruv

| || il'“i' "' T, R s, Y
. L e e ._l_ F

d Dhurav g (D) Chaya and Amit
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' 34‘ ﬂlﬂds for ‘addition’; < stands for ‘subtraction’; > stands for ‘multiplication’.
& _:ﬂﬂl for ‘division’; - stands for ‘equal to’; + stands for ‘greater than’; stands

't ‘less than’; then which one of the given alternatives is correct ?
@*4*3 3%x2x1 G =4 < 2~ Gl 2
’334134-34:2{1 (D) 3+4x3+3'?2=<1

TICS ll coded as OPILITSC, how will ARTICLES be coded in that language ?
Al (B) RAITLCSE (C) ARITLCSE (D) RAITLECS

.Jﬁ‘b
;l__"!.

mo following statements :
&Mﬂ'l and B are of the same age or A is older than B.
‘Either C and D are of the same age or D is older than C.

| 2 ?-f-" e
3y 4*":“. :'Eﬂ i
- Whic m&ﬂn followlng conclusions can be drawn from the above statements ?
is, ﬂﬁorthan B (B) B and D are of the same age
2) Di ”'.i_ der than C (D) A s older than C
j Which would replace the sign of question mark (?), so that the series
c by tha problem figures can be continued.

R Problem Figures

ﬂ*_‘f

g F-L
é

== LY

& "hi » ! -
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'mﬂﬂe of the combination given below. S
1965INDOPAK

APODNI569 B) K1965INDOPA
{AdO 5 9 ) (D) AA9O0dUNIcaer
n Xis ks ;; ,, m Gmen Iake. The town Y is West of X. Z is East of Y but West
ast of V but . If all the towns are at the same distances

.-ﬁ'

ot (C) V (D) Y
s the *T“- L Qf Q'; 'P$Q' means 'P is the husband of Q': 'P#Q’
'-: of Q _ﬁ E"“ 2 ,Lmeans 'P is the son of Q': then which of the

@2 F is the sister of L
*“‘ D) L is tha hruther of J

i""t‘-‘”‘
'Hﬂﬂhhu - o




't a figure from the options in which the fig. (X) is embedded.

e

i Fig. (X)

® | [T © | % O |Le

figure (4) bears the same€
h would replace the

ums (1) and (2) bears certain relationship. Similarly,
tatlonship to figure (3). Select a figure from the options whic
e }:_l'.l of question mark (?).

Problern Flgures

-
e | O @— ?
A |4 g T{

1 2 3 4

D=— P =00
©D o) | £

COMPUTERS AND INFORMATION TECHNOLOGY

the following code

-h,__#., ana {kh
quﬂw protected shape { };
n‘*cgm ‘not compile because class body of shape is not defined.
Fi” ‘jﬂ not compile because class body of square is not defined.
| W ll 'ﬂﬁt compile because a class cannot be protectedly inherited from other class.
i

‘;:T m“mwle successfully.

““ fho other name of Microsoft's Project Natal i.e., a motion sensor gaming

]

(B) Kinect (C) Wii (D) KALQ

P maﬁgl describes data at the conceptual and view levels.
,h (C) Object based (D) Network

L] B L -

5 are organlzad as collection of trees rather than

(c) Relational (D) Both (A) and (C)



ized form of the following function.
x'y'z + x'yz + xy’
(B) x'z + xy’ (C) xZ' +yz (D) xZ' + Xy

fM, while typing in a placeholder option button automatical

ael m alaa of the font to fit it in the placeholder.
| _f ',5'-‘-_-",-.:'-;_.1;; BRIl (B) Autofont (C) Autofit (D) Autofit Text

f et - .r Li - =
4 QNS *'..-.;
- .-‘"14‘1 b
Ngaw i A t
| i | ..'Ii :..

H 1
. J_"‘H-,l: "_"‘.

| i@llowmg statements is INCORRECT?
"'-f; ‘B are continuous in nature.
gital s fi have discrete amplitude levels.
i’ ly rumwe noise from analog signals added during tran

ig a sequence of voltage pulses in binary form.

smission.

ﬂ medium wlll you choose if you want to send analog signa

(B) Optical fiber cable
(D) All of these

lmis a type of LAN?
(B) Peer-to-Peer

(D) All of these

ﬁay in the memory after the host program is closed.

(B) Non-Resident
(D) Real Time

' atlc protection provided by most of the anti viruses. Th

7 o i‘h'i\.:.h:,‘_l L ——

_‘,;r'.'.,-'r'-\'l"-i’ *-“ l"" "
Syster m% ?lcmtls activities such as spyware, virus etc. )
ure based protection (B) Heuristics protection

(D) Real Time protection

(D) Star



rs ,mw model has sub-layer?
(B) Data Link Layer
(D) Presentation Layer

e that can fetch all packets out of the network and process them

(B) Network Packet Sniffers
(D) Cracking

an the data link layer.

(B) Bridge
(D) Hub

restricts a document so that it can be opened and/or changed

(B) Permission
e ' :‘ ) h _ﬂf E,J € !' ( D ) Marku P

'R iR

-"J'.,.c

(B) XY+X+Z+YZ
DR Yot XZ +YZ

is ability to modify the scheme followed at the internal level
ting ‘the scheme followed at conceptual level.

“F Iﬂdependence (B) Physical Data Independence

i (D) Both (A) and (C)

(B) Project operation
(D) Set Intersection operation

re usad for security at server level?
5 (B) Encryption
(D) Both (A) and (C)

T 'es -and Numbers

R

ed | Name amd Number
AT T A e e

ar -



arir

\in the timeé frame that gateway had assigned

m being called

"

1&.. __‘ < 1

in the fpade or pragra

g vas lﬁé‘t‘fbund
nctions prowded b
UNT, SUM, AVG, MAX, MIN

AVG, MIN, MAX, NAME

rser in XML?
(B) Validating and non-validating

(D) None of these

ine ber in contrast to XML.
-. o 2. <pote”
4. <from>XYZ<\from>=

(D) S

Wii



(B) Create movie
(D) Animate movie
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